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F. SNSRI Tl R A EH el I 1S fwed H g -
Read the following questions carefully and select the option with the correct answer-

1. YNd GCRR A e (o T STHRIGAl W (THUEST) 1 16 il (o631 o1 2
Why did the Government of India form the Ministry of Skill
Development and Entrepreneurship (MSDE) ?

(%)

()

(¥)

@)

N O Se

AERET % o Au-au FrRrS & femmr ag

To develop new skills for jobs

AT %l TSR] ST I T2 &q
To enhance the capacity of livelihood of the youth

[\ NN N

FH3NS AT i Y[ & (AT
For supply of skilled manpower

I9gh @it/ All of the above

2. UESTREINH H1 G A F1E ?
What is the full form of SIDS ?

(%)

@)

(%)

@)

(37)

(§)

IRRIET0T HETHeRNd

Directorate General Training

RIS TR ST ITARNSAT A=

Ministry of Skill Development and Entrepreneurship
[N o O\ [Nl aN @.

Skill India Digital Hub

S ST el ST i aRyg

National Council for Vocational Education and Training

3. Tohoe e § SIS 1 qUA 8 2
Jyotisha Shashtra is described in how many Skandhas ?
o el ° @) A e
In five Skandhas In three Skandhas
IV Ehel | @) o el H
In four Skandhas In six Skandhas
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4.  IFATINEE ?
Unexpressed Mathematics is ?
CIREERIG @) Y@t
Algebra Geometry
(@) gt @) @S
Siddhanta Ganit Astronomical Mathematics
5. fo- 9Nl % T UE TRl Y WAl % S 0 R S g 2
The knowledge of swami of days and years and the average speed of
planets is decided by ?
(37) A=A @) T
From Chandramasa From Sauramana
(@) HETHEE @) wEmEd
From Savanamasa From Brahmamana
w  frmiaRea wail % R el it gfd il -
Fill in the blanks in the following questions-
1. TE-FJHFAAT TN TE M AT oo, T & 2 |
(FIHEY/ I FISEY)
If all the planets come in between Rahu and Ketu then ........................
yoga is formed. (Kalasarpa/Ananta Kalasarpa)
2. %Y UST T T0T H STHSBA ..o e | e S 2|
( o /f\ )
The time period from creation to destruction is estimated from
......................... skandha. (Sambhita/Siddhanta)
G -2 | 21 C S & (| / T
The gemstone of the moonis .................. (Neelam /Moti)
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4. FIEE A g wiE | G A1 T Rud S 31 T SR WA | T8 T A &l
........................... 2| (TR /==10T)
If the Sun or the Moon is situated in the twelth or second house and is
aspected or conjuncted with Mars and Saturn then .....................
happens. (Ear disease/Eye disease)
5. S % AGELA........... TN % &ld &1 (TR /9F)
There are .......... types of diseases according to Jyotisha. (Four/Five)
T AeiRad Rl H A/ Ec forhed i g -

Choose the True/False option from the following sentences -

1.

g, eI Wi @ g9 W9 § G &l SISH IS Tad WiHie 9 (Hcd /)
ferd & ST |

If Panchatara Bhaumadi planets except Sun are (True/False)
situated in the twelfth house from the house where

Moon is situated, then Anapha Yoga is formed.

&9 | fgdia 3R grem i1 el H afg e Req e T g waR. (F/ o)
2yl

If auspicious planets are situated in both the second (True/False)

and twelfth houses from the ascendant then it is

Shubha Kartari Yoga.
TG-2 T % SHT @ S el GG (12) Bl a O faf (G /3TEA)
I 2|

When the difference between the revolution of the Sun  (True/False)
and the Moon is 12, then a Tithi is formed.

=t FTEAE £ GRIEES)
There are nine Kaalmanas (measure of Time). (True/False)
g FfeT 1 Ok gE el 2 | (T / 3T6A)
Thirty trutiyas make one muhurta. (True/False)
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6. 39 %M, a5, @ TER & [T, TS FH R I M SR (T / IEGA)
e’ G | Fe e
Dev karya, yajna, all types of marriages, Chuda Karma (True/False)
and Upanayan etc. sanskaras should be performed in
'Savitri' muhurta.

7. HY, 2T A1 TR TR F {ES g H #Ud &1 dl &= I07 Sidl G Eisse)
2l
If Mars of Aries, Scorpio or Capricorn is situated at the  (True/False)
center then Ruchak Yoga occurs.

8. TJdUgS e WM H fvaoane! &id § | (TcT /)
Sun and Mars are powerful in the tenth house. (True/False)

9. 13 37120 ST FI Tk AT HT HF T &1 2| (G /3TEA)
The value of a Nakshatra is obtained as 13 degrees 20 (True/False)
kalas.

10. 18R & = 1 femAfeq g (T / <)
1 Saur varsha = 1 Divyadin (True/False)

q  femfeRad ueif % IR il i ghfed Hivw -
Match the appropriate parts of the following questions -
3. (S 1) W

1. U & SRR H 4. frRweR
In one brahma day and night has a special drishti.

2. foAw amea B. AR [T o &I &
Eighth of the day definitely leads to victory.

3. fooa PEa d wEE # @ S, e S wde & g o el 2
Attacking in Vijaya Muhurta then success is always achieved.

4. I HET H G EE IR P R e Erar e
Saumya karyas started in is Abhijeet Muhurta
Saumya muhurt

5. I« F g R 7MW el . 3 Feq e gl
Saturn in the third and tenth there are two kalpas.
houses
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3. ™R (UK
1. el gt 98 =iy 4. HSHEd & 36 TR F S
F&d 2l
nidhim ksetram grham capi attached to the horizon is
called ascendant.
2. Gdgd @E 3. fodoandl g §l
sukham dukham svabhavasca Are very powerful.
3. @MY WS IR g S, A& &l §
Mars and Sun in 10" House is Nakshatraman
4. TSNS SRR . SRS
nadisastya ahoratra lagnabhavanniriksayet.
5. S & SeHsHIS § S UR1 o 9@ S g R
At the time of birth of the person, caturthat paricityet.

the zodiac sign which is

-1 afeh Fiz1es forhT T SHfRIe Ga® i i H 90 Hifs

Question-2  Describe the role of Vedic Skill Development and Jyotishashashtra
Sahayak.

T2 SIG2MTE] 1 T 90 hiTeT)

Question-2  Give a general description of the twelve houses.
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